

FDOT

Florida Department of Transportation

Vendor Ranking

Page 1 of 1

Letting: 02250917

September 17, 2025 11:00

AM

Call Order: 005

Contract:

E21R7-R0

District:

District 2

Counties: DIST/ST-WIDE,

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Contract Desc: Chemical Weed Control

LAFAYETTE, MADISON,

Project(s): 41021557269 (*)

TAYLOR

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	TERRA MAINTENANCE CO.	Responsive	Winning bid	\$41,278.60	100.00%
2	DJK AG SERVICES, INC.	Responsive	Non-Winning Bid	\$42,701.13	103.45%
3	GUM CREEK FARMS, INC.	Responsive	Non-Winning Bid	\$47,267.47	114.51%
4	ALPHA-OMEGA TRAINING AND COMPLIANCE INC	Responsive	Non-Winning Bid	\$49,360.78	119.58%
5	CURB APPEAL SEVICES INC	Responsive	Non-Winning Bid	\$56,772.52	137.53%
6	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$143,982.00	348.81%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Florida Department of Transportation



Tabulation of Bids

Page 1 of 3

Letting: 02250917 September 17, 2025 **Call Order:** 005 **Contract:** E21R7-R0

District: District 2 Counties: DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

LAFAYETTE, MADISON, Project(s): 41021557269 (*)

Contract Descr: Chemical Weed Control

TAYLOR

The work under this Work Document Driven Contract consists of providing all labor, materials, equipment, Maintenance of Traffic (MOT), and incidentals necessary to control undesirable weeds, grass, and brush growth by applying herbicide at various locations in Lafayette, Madison, and Taylor Counties. RENEWAL OPTION.

Line No / Item ID Alternate	•	(1) TERRA MAIN	ITENANCE CO.	(2) DJK AG SE	RVICES, INC.	(3) GUM CREE	EK FARMS, INC.
() indicates item is bid as Lump Sum	-	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (CHEM WEED AND GRASS CONTROL (GA							
0005 E580337 2 HERBICIDE (STRIP APPLICATION)	114.626 AC	300.00000	34,387.80	274.00000	31,407.52	314.06000	35,999.44
0010 E580337 4 HERBICIDE (STRIP APPLICATION)(AQUATIC)	0.268 AC	200.00000	53.60	4,000.00000	1,072.00	1,000.00000	268.00
0015 E580337 6 HERBICIDE (HAND APPLICATION)	34.186 AC	200.00000	6,837.20	299.00000	10,221.61	321.77000	11,000.03
0001 CHEM WEED AND GRASS S CONTROL (GA)	l	\$41,278.60		\$42,701.13		\$47,267.47	
Contract G		\$41,278.60		\$42,701.13		47,267.47	



Florida Department of Transportation



Tabulation of Bids

Page 2 of 3

Letting:	02250917	September 17,	2025 Cal	l Order: 005		Contract:	E21R7-R0		
	o / Item ID Alternat	Quantity Units	(4) ALPHA-OMEGA TRAINING AND COMPLIANCE INC		(5) CURB APPEAL SEVICES INC		(6) MIDWESTERN CONSTRUCTION, INC		
() indic	ates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 (CHEM WEED AND GRASS CONTROL (GA									
	E580337 2 DE (STRIP APPLICATION)	114.626 AC	334.27000	38,316.03	435.00000	49,862.31	850.00000	97,432.10	
HERBICIE	E580337 4 DE (STRIP FION)(AQUATIC)	0.268 AC	3,500.00000	938.00	400.00000	107.20	27,000.00000	7,236.00	
	E580337 6 DE (HAND APPLICATION)	34.186 AC	295.64000	10,106.75	199.00000	6,803.01	1,150.00000	39,313.90	
0001 CHI	EM WEED AND GRASS S CONTROL (GA)	ection Totals:	l	\$49,360.78		\$56,772.52		\$143,982.00	
	Contract G	rand Totals:		\$49,360.78		\$56,772.52		143,982.00	



Florida Department of Transportation

09/25/2025

Tabulation of Bids

Page 3 of 3

Letting: 02250917 September 17, 2025 **Call Order:** 005 **Contract:** E21R7-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.